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' W1 — Multiplying Binomials Unit3 !
' MPM2D ;
. Jensen !

1) Simplify the following expressions

a)(3x+4)+ (5x+ 2) b) (2 —3yz) + (7 + 6yz) c) 5x+7) —/(%;c\— 1)

= B 44 155+ =d-3yz Y 46y2 Z 5T A + |
B %*SYJ’L“‘Q\ :—%3%+@32+9\+7 = 5%_;\%1:7_”

- 3xte = 34z 49 = 25044

2) Multiply

a) (4x)(7x?) b) (—6m?n®)(—=7mn?) c) (2xy)(—3xy>)(—3x?)
_ > 5

3) Expand and simplify

a) 2 x—4)+/§(§x?3) b) 4@7) —@9) c) 4x+@5)+®)
= dx—% + Sxtl5 = Iy - - 2ox-Yg5 — fy +6x-15+4 -30%
= dx+5x -< 45 p g%,;o/%,;géd% = Frtbx -30x -15+6
= et = A -73 Rt

4) Expand and simplify

a) (x@S) b) (xm?)) c) (C@)S)(C\j 8)
2~ =7 a7

c?_%c xdc ~\b

W

= X S x k5 G PO PY

= 2+ bx ) 5 = 9{‘2774 Flow - c? - bc-l6
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d) (= @232 5) ) (X@S) f) (3@5)
= Aot - Sa— Lo k15 = UpreZy — 3015 = Q{al+l5q’|5ca—9\5
= aOﬁ—\lQ'HS N = O[QQ\__ a5
= Y- 17 -15
TR R Sy Y
g)2(x+3)(x+5) h) =24y + 1)(y —3) i) 3x + w;z)
A 2
= (ax +Q£7§76§ _ *QMUI’MS“J\X’BB = 3% +l&wj+7aj+t(jl
= 3\7(,14-\0')(*%76 130 - - Q: ?L{jl“\]gj?’) = 3147\ + IBX_Lj* HBD\
= 9\7(9\-\-\(:7’)( +30 = ,%33+;2ﬂ+g
N o T R
i) (—3a+4li)(£1j+’ 3b) k) (x@ 4) + (x@s)

= b - Yap +¥ab H1L>

R Y SR U NI S B
= — (o - ot _

1) 2(3@ 2) — 3(2@)

12— 235~ Dy 22— 1 50 4
m) y—2)3y % (y+%)

= Ia—;(c’(gﬁéﬂ%j_q) - (923245 +5y -;o)
= 2 (W G+ ert 8)- 3 (a8 ¥ -2y - i&—@“) ~/(3?;3?1°>

< 2T e ) S ) = 1215y 8 -dyT g eae

2
= %R Wy 4K < LAl x4 12 BERCIMERR S

= |7 4 3% £ 20



























































































5)a) (2x + 3)2 b) (2x + 3)3

- (;m% — (2% +3) (32 3)(22+3)
< >~ )

= (aﬁmﬁ)

~= = 7

= B H AR HE o+ aP e K 4 2T

I

P 1o thox +9

= 497+t q
= GO+ 5y +aT]
P
c) (x? +3x—2)(x +J4) d) (x? —4x+ 1) (x* +3x+5)

3 9 3 3 2
= K+ a2 - S %+ IO 12 202 47 434 S

y
— %3-}79(3‘.(.[09(_? =X - 753 - (=’7CJ\~177( )

6) Write and simplify an expression for the area of the following figure.

%59&3) — & xH)
= X H3x —dx -
el e

N
\

{

7) The diagrams show the first three rectangles in a pattern.

a) State the area of the 4™ rectangle. 3 cm- 4 cm- 5 cm-

6 ¢m

A = 6(,7)
Tem = Y2 C/V\D‘

n =Y











































































b) Write a product of two binomials to represent the area of the n‘"* rectangle in terms of n.

A= (¥\+Q~)Cn+3>

c) State the area of the 28" rectangle

A = (25+D(A%+3)

(39)(31)
P30 cm*

I

i

K

Answers

1)a)8x+6 b)3yz+9 c)3x+8

2)a) 28x3 b) 42m3n5 c) 18x>y*

3)a) 7x +7 b) —12x — 73 ¢) —20x — 9

4)a)x2 +6x+5 b)x>—7x+12 c)c?—6c—16
d) 2a®? — 11a + 15 e) 4x?> — 17x — 15 f) 9a? — 25
g) 2x% 4+ 16x + 30 h) —8y? + 22y + 6 i) 3x? + 13xy + 4y?
j) —6a? — ab + 12b? k) 2x? + 15x + 30

1) 12x2 + 3x + 20 m) —20y?% + 3y + 40

5)a) 4x2 + 12x + 9 b) 8x3 + 36x2 + 54x + 27
)x3+7x>+10x —8 d) x* —x3 —6x2—17x + 5
6)x2+x—2

7)a)42cm? b) A = (n + 2)(n + 3) c) 930 cm?










